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Name:

Trig Quiz :: Math 115

For full credit, you must circle your answers and show all your work!

1. The unit circle with three angles is shown below.

a. Fill in the remaining angles as indicated by the markings.

b. For each angle, display the corresponding terminal point (eg., (

1
2 ,

p
3
2 )).
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1. Compute

sin

⇡
3 cos

5⇡
3 tan 9⇡

sec

7⇡
4 csc

2⇡
3 cot

11⇡
4

2. BONUS: Sketch the graphs of the functions below

sin x sin (x+ ⇡/2) AND cos x

tan(x) sin(�x)
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MA115 :: Sections 7.1 :: Trig Identities

Example. Simplifyig a trigonometric expression

tan

2
x� sec

x

= 1

Example. Simplifyig by combining fractions

2 + tan

2
x

sec

2
x

� 1
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MA115 :: Sections 7.1 :: Trig Identities

Example. Prove an Identity by Rewriting in terms of sine and cosine

tan y

csc y

= sec y � cos y

Example. Prove an Identity by Combining Fractions

tan x+ tan y

1

tan x

+

1

tan y

Example. Prove an Identity by Introducing Something Extra

1 + tan x

1� tan x

=

cos x+ sin x

cos x� sin x

Example. Prove an Identity by Working Both Sides Separately

tan x+ cot x = secx csc x

Example. Trigonometric Substitution

xp
1� x

2
, x = sin ✓

.
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MA115 :: Sections 7.1 :: Trig Identities

Example. Simplifyig a trigonometric expression

tan

2
x� sec

x

= 1

Example. Simplifyig by combining fractions

2 + tan

2
x

sec

2
x

� 1
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MA115 :: Sections 7.1 :: Trig Identities

Example. Prove an Identity by Rewriting in terms of sine and cosine

tan y

csc y

= sec y � cos y

Example. Prove an Identity by Combining Fractions

tan x+ tan y

1

tan x

+

1

tan y

Example. Prove an Identity by Introducing Something Extra

1 + tan x

1� tan x

=

cos x+ sin x

cos x� sin x

Example. Prove an Identity by Working Both Sides Separately

tan x+ cot x = secx csc x

Example. Trigonometric Substitution

xp
1� x

2
, x = sin ✓

.
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